4 E FASNMP# S B ERMONE SR M E4H4FRE

Im
=

S (&8
i
R
2

Epl
%

S
B
I
&

Lﬁii 2
=)

i
i
A

&Y
S
HO
Xt

-
iy
_H'.

o3
<
I
R

i
=

2
?ﬂ

]
et
S
B

h
B
it
E.._\_IIIII

L

AXEREASNMPIE TR R EE 2 (RMON) BN EHRERM 7 —EEE A,

A E R

®|XR
AXHEEREBR.
BRA T

EEHTARERIPER | ENEBEFEELZERMON-MIB, &0 LAEIBCisco I0S MIB Tools({# R
HMEF)BRRLER.

ANHNEARBBEBEERETRFEANKEMEL. XHEAINAMBERELRERER (ER
) BVHERERRED . MRIGHVMEER EEER | FRACERBEME T ARERNZE,

i

MEXHEGINFRES , F2RERRMERED.

HEREM



//tools.cisco.com/ITDIT/MIBS/servlet/index
//www.cisco.com/en/US/tech/tk801/tk36/technologies_tech_note09186a0080121ac5.shtml

EREZERMON)BEHMEANENRERKE LNEAMBER , MR ELEFNEBEEHESR
WEE , InRMEESRHES.

ERELEMBRIREARR , WHEEIRSE ( TR LARE ) KBRS,
SHRERBRFERNBHMIA. RELAMNTENRERE

n=value monitored by the alarm. The falling threshold is "5" and the rising threshold is "15"

EIMEE K, BREBRSEN

SR, W

Fallirg Thnzboiod

Folioy baoomes
aliva

RE |KHH |ER

n1=16 | L H [ZEZE| EHE : 15

n2=4 |B% |iZER|TRE:5

n3=6 |none |5E155%

n4=6 | LtFH [iZERB|LFHE: 15

n5=13 | none | B iF &4

n6=20 |none |155A L , 1B B LIXREBHURKIERS
n7=4 |B5& |ZEJITRE:5

n8=20 |none |58 AT , B B LIXEB AR KBIB155%
n9=16 | L H [iZER| LFHE : 15

BELMERA SN ECL)ERBAR LEERMONBRNEH4GESEBEBRS DN ERE
RMONEHRMEHEETE) , Ll A FEAESERKEE T ESNMP) ST ERHS MR R FEE
RMONEHRMEH, EENH5|IZHERMON-MIBH—ZB5

BIEF

BV EM
ERANTwmTERILEMN

# snmpset -c <read write community> <device_name> .1.3.6.1.2.1.16.9.1.1.x.y <variable type>
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<value>

BB ESHIDERY).

ERUTBREEIEN. HRESELER  BATS
HRID(OID).

<variable type>Fl<value>,

1. BRFEAID="y'NWHEKRESH (BREEREETEEEE ). &8
* eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y
* variable type=integer

* value=4

AR RBEFECERAR - SBEREMN
2. EABMHEUE :

eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y
* variable type=integer

* value v=2

) = .
. IEESHRA -
* eventDescription / .1.3.6.1.2.1.16.9.1.1.2.y
* variable type=string (for Net-snmp) or octetsting (for Openview)

* value

= a description of the event

4. EEFENSHER
* eventType / .1.3.6.1.2.1.16.9.1.1.3.y
* variable type=integer

none
log

* value =
" o=>
" =>
"3 o=>

AN =>

snmp-trap
log-and-trap

= = .
5. EERMNHLEFS

* eventCommunity / .1.3.6.1.2.1.16.9.1.1.4.y

* variable type=string (for Net-snmp) or octetsting (for Openview)

* value="<trap_community string>"

) ol .
6. EESBHMNMBEE :
* eventOwner / .1.3.6.1.2.1.16.9.1.1.6.y
* variable type=string (for Net-snmp) or octetsting (for Openview)

* value="<event_owner>"

7. RAEH
* eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y
* variable type=integer

* value=1

27 W

FRAUTHTERILE

# snmpset -c

<value>

1. MEREMID=y (MRTEEFEY , BFEARE ) NEREEHR. T8

THELSRORA. EEAHIMBERNERE.

) E%ﬁﬁﬁ% _1@|D)o

.1.3.6.1.2.1.16.3.1.1.x.y <read write_community> <device_name> <variable type>

, i fE A S —{EID):



* alarmStatus / .1.3.6.1.2.1.16.3.1.1.12.y
* variable type=integer
* value=4

2. EAEBWMEVERN !
* alarmStatus / .1.3.6.1.2.1.16.3.1.1.12.y
* variable type=integer
* value=2

3. MEERBKREIBER (AW AREN ) , WHEEANMTRREETE
* alarmInterval / .1.3.6.1.2.1.16.3.1.1.2.y
* variable type=integer
* value=<n_seconds>
4. EEEEENOID:
* alarmvVariable / .1.3.6.1.2.1.16.3.1.1.3.y
* variable type=objid (for Net-snmp) or objectidentifier (for Openview)
* value=<oid_to_check>
5. ERFTEMNEARER
* alarmSampleType / .1.3.6.1.2.1.16.3.1.1.4.y
* variable type=integer
* value=<rising threshold> "1" => absoluteValue "2" => deltaValue

6. EEBBRERNAR :
* alarmStartupAlarm / .1.3.6.1.2.1.16.3.1.1.6.y
* variable type=integer
* value=
"1" => risingAlarm
"2" => fallingAlarm
"3" => risingOrFallingAlarm

7. ERLAHRE :
* alarmRisingThreshold / .1.3.6.1.2.1.16.3.1.1.7.y
* variable type=integer
* value=<rising_threshold>

8. E& NERE :
* alarmFallingThreshold / .1.3.6.1.2.1.16.3.1.1.8.y
* variable type=integer
* value=<falling threshold>

EEEB EARERERBENEMHD:
* alarmRisingEventIndex / .1.3.6.1.2.1.16.3.1.1.9.y
* variable type=integer

©

* value=<event_ID>

10. IEEHBIB T MR {ERFHEHID:
* alarmFallingEventIndex / .1.3.6.1.2.1.16.3.1.1.9.y
* variable type=integer
* value=<event_ID>

—1— ol .
M. EBEEBERNEE
* alarmOwner / .1.3.6.1.2.1.16.3.1.1.11.y
* variable type=string (for Net-snmp) or octetsting (for Openview)

* value=<owner>

12. AR EHR
* alarmStatus / .1.3.6.1.2.1.16.3.1.1.12.y
* variable type=integer
* value=1

L 47



FEABIH |, safariFA AT &% M 2 8 R A ST E 1289 {2 7T 48 218 140000000 3% 1K 74 10 B 23 FA Bt

o

SafariCisco 10S 25008 88 (C2500-JS-L), FRA12.1(9). AWRAEXEE(fc1).
I RBIEWS-C6506 84 B8 lix ANmpSW E i s IH EER : 6.1(1b).
XX : ECatalyst?h , REAMRBREREMCLIS , B 7 LA AR 25 L 5 FAsnmpwalkds 2R 5E B

o

ERRHBRMRMR L | HEREEERRAREZ,

safari# show rmon events
Event table is empty

# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 4
16.9.1.1.7.123 = 4
# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 2
16.9.1.1.7.123 = 2

safarif#fshow rmon events

Event 123 is under creation, owned by
Description is

Event firing causes nothing, last fired 00:00:00

# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.2.123 string "test_event"
16.9.1.1.2.123 = "test_event"

# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.3.123 integer 4
16.9.1.1.3.123 = 4

# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.4.123 string "public"
16.9.1.1.4.123 = "public"

# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.6.123 string "event_owner"
16.9.1.1.6.123 = "event_owner"

# snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 1
16.9.1.1.7.123 =1

safari# show rmon events

Event 123 is active, owned by event_owner

Description is test_event

Event firing causes log and trap to community public, last fired 00:00:00

safari# show rmon alarm
Alarm table is empty

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.12.321 integer 2
16.3.1.1.12.321 = 2

safari# show rmon alarm

Alarm 321 is under creation, owned by
Monitors ccitt.0 every 10 second(s)

Taking absolute samples, last value was 0
Rising threshold is 0, assigned to event 0
Falling threshold is 0, assigned to event 0
On startup enable rising or falling alarm

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.2.321 integer 120

16.3.1.1.2.321 = 120

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.3.321 objid .1.3.6.1.2.1.2.2.1.10.12
16.3.1.1.3.321 = OID: interfaces.ifTable.ifEntry.ifInOctets.12

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.4.321 integer 2



16.3.1.1.4.321 = 2

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.6.321 integer 3
16.3.1.1.6.321 = 3

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.7.321 integer 140000000
16.3.1.1.7.321 = 140000000

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.8.321 integer 10
16.3.1.1.8.321 = 10

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.9.321 integer 123
16.3.1.1.9.321 = 123

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.10.321 integer 123
16.3.1.1.10.321 = 123

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.11.321 string "alarm_owner"
16.3.1.1.11.321 = "alarm_owner"

# snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.12.321 integer 1
16.3.1.1.12.321 =1

safari# show rmon alarm

Alarm 321 is active, owned by alarm_owner

Monitors ifEntry.10.1 every 120 second(s)

Taking delta samples, last value was 130244

Rising threshold is 140000000, assigned to event 123
Falling threshold is 10, assigned to event 123

On startup enable rising or falling alarm

R
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